
O18-904

1. r2p = r1 pour tout p par récurrence.
2. fn(R) = fn([−π, π]) et fn est continue sur le compact [−π, π] donc Mn existe.

Parseval : (‖fn‖2)2 =
n−1∑

0
|rk|2 = n (=nombre de termes de la somme)
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O18-904
> restart;
> r:=proc(n) 

local p; 
if n=0 then 
      return 1 
elif irem(n,2)=0 then 
      return r(n/2) 
else 
     p:=iquo(n,2); 
     return (-1)^p*r(p) 
fi; 
end;

r nproc( ) := 

local ;p

if then elif then else end if = n 0 return 1  = ( )irem ,n 2 0 return ( )r ∗ / 1 2 n ; := p ( )iquo ,n 2 return ∗^( )-1 p ( )r p

end proc
> seq(r(n),n=0..30);rr:=array(0..30,[seq(r(n),n=0..30 )]):
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> S:=(t,n)->sum('rr[k]*exp(I*k*t)',k=0..n-1)/sqrt(n);
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> S(t,5);
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> with(plots):
> complexplot([seq(S(t,n),n=1..20),sqrt(6)*exp(I*t)], t=-Pi..Pi);
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